workbench

Thank You!

You have successfully downloaded your document
from Workbenchmagazine.com. Below are some
tips for Trouble-Free Printing

1) Clear printer memory. If you are unable to print this document,
turn off your printer for at least 15 seconds and try again.

2) Print two or three pages at a time. If clearing the printer
memory didn't help, try printing only two or three pages at one
time, rather than sending the entire file

3) If a document is required to be at an accurate scale set the page
scaling option to "none" in your printer settings.

4) Get advanced printer help. Visit Adobe Support for instructions
in troubleshooting common printer problems.

http://www.adobe.com/support/techdocs/316508.html



http://www.adobe.com/support/techdocs/316508.html

workbench’

10f9

Entertainment Center

Issue 311 | Volume 65| Number 1 |

February 2009




#8 x 1-1/2" FHWS

See article for

door information \/'

set flush with front &
back and ends set
back 1/2"

Workbench B Entertainment Center

3/4 x 15-3/4 x 60"
oak plywood with
iron-on edge-banding

1/4 x 1-1/2" spacers
set flush with front &
back and ends set

back 1/2"

3/4 x 15-3/4 x 60"
oak plywood with

iron-on edge-banding

1
#8 x 1-1/2" FHWS /

Sedona leg style 1
6" tall, aluminum polished

part #SEDONA01-6-PA \'

TableLegsOnline.com

| (4) #10 x 1"
! s RHWS per leg

20f9

Issue 311 | Volume 65| Number 1 |

February 2009




e—————153/4 ——=

SIDE VIEW

23

1/4

N f—

SR
© T © 14 1/4
29 1/4

~Ir——

T

: t $
g Ventilation / Wiring slot W ‘x@

BACK VIEW

60

FRONT VIEW

30f9

Workbench B Entertainment Center

Issue 311 | Volume 65| Number 1 |

February 2009




1-1/4" pocket screws

#8 x 1-1/4" FHWS

Edge-band front

edges of plywood
1/4 x 14-1/4 x 59-1/4"

hardboard back panel

40f9

WorkbenCh Entertainment Center Issue 311 | Volume 65| Number 1 | February 2009




14 7/8

See article for
door information

21/4

:

TT— 2 (use location of hinge

on door to locate vertical
placement)

—T

IRNHARARARRAR AR AR RAR AR
T T T T T

SECTION A-A

50f9

WorkbenCh B Entertainment Center Issue 311 | Volume 65| Number 1 | February 2009




/ﬂ; = r— © o — =
3/8" rabbet
1/4" deep

© H > S

B TOP PANEL °e S
Q H > [ =

®
=) = T © © [—7 |
3/4 o = —
3/4 = |-
; > ® e [ —
Lo > [ —
BOTTOM PANEL

= —_— ® 0 15
[9)] H > @ [T ==
=] H > © © O

58 1/2
® $
58 1/2 11/2
| ® |
= 12 4 ofo

WorkbenCh Entertainment Center Issue 311 | Volume 65| Number 1 | February 2009




| 15 | /, N
I i , \ 3/8
: : e /
N /
3/4 - *
° ° 131/2 ° °
; ; : ; - 14
15 o o (e} © o
: 7_%1( : : 7]
14 1/4
41/2 3(173/4 fl
é - DETAL B~
SECTION A-A
58 1/2 =
{ AT‘
‘f 1 : - - - - - - - - - - - - - - - - \‘
| ! N i ) |
| 3/4 | |
\ | \
| \ |
| © | © |
15 =] i =— 3/4 | i
i 3/4_> < | |
! —= =— 3/4 i !
\ ! \
| \ |
‘ 28 1/2 ‘ 28 1/2 \
\ ! \
| \ |
| [ S j
Ventilation / Wiring slot éj
FRONT VIEW
7 of 9
WorkbenCh B Entertainment Center Issue 311 | Volume 65| Number 1 | February 2009




Cutting Diagram

® ©
® ©
©
3/4 x 48 x 96" Oak Plywood
©
3/4 x 24 x 96" Fir Plywood
N J
© ©

1/4 x 24 x 96" Hardboard

(4) 1/2 x 1-1/2 x 72" Oak strips

8of9

WorkbenCh Entertainment Center Issue 311 | Volume 65| Number 1 | February 2009




MATERIALS AND HARDWARE LIST

Project: TV Cabinet Issue: 311
CODE DESCRIPTION QTY. Dim1 Frac. Dim2 Frac. Dim3 Frac.  Material
Heading

A Case Top & Bottom (2) 15 x 58 1/2 - 3/4 Oak Ply

B Case Ends (2) 15 x 15 - 3/4  Oak Ply
C Case Dividers (2) 15 x 13172 - 3/4 Oak Ply
D Case Back (2) 14 1/4 x 29 1/4 - 1/4 Hd Bd

E Top & Bottom long spacers (4) 112 x 581/2 - 1/4 Oak

F Top & Bottom short spacers (6) 112 x 12 - 1/4 Oak

G Top and Bottom (2) 153/4 x 60 - 3/4 Oak Ply

3/4" oak iron-on edge banding

(4) 3/4 x 14-7/8w x 15"h custom made doors w/o glass

(4) 1/8 x 10-3/4 x 10-7/8" "squares" textured glass. Rockler #38821
(32) Glass retainer clips. Rockler #32887

. (4) 6" Polished aluminum legs. TableLegsOnline.com # sedona-6-pa
. 1-1/4" pocket screws
. #8 x 1-1/2" flat head wood screws

(1) #10 x 1" round head wood screws

90of9

WorkbenCh Entertainment Center Issue 311 | Volume 65| Number 1 | February 2009




FREE BOOK

Look at what you'll get...

* Free Preview of Workbench Magazine

* Free Storage Solutions Book

* Time and Money-Saving Tips

* Projects with Step-by-Step How-to's

e Your Home Improvement Questions Answered

* Practical ideas to Add Style & Value to Your Home
* Tools and Product Advice

! Free Offer)
2

www.WorkbenchMagazine.com

Offer subject to change


https://w1.buysub.com/pubs/WS/WBH/wbh_sub_new.jsp?cds_page_id=13932&cds_mag_code=WBH&id=1166546921780&lsid=63531048417030297&vid=1&IMAGE22.y=10&IMAGE22.x=29&IMAGE22=Search&cds_country=United+States&cds_mag_code=WBH
https://w1.buysub.com/pubs/WS/WBH/wbh_sub_new.jsp?cds_page_id=13932&cds_mag_code=WBH&id=1166546921780&lsid=63531048417030297&vid=1&IMAGE22.y=10&IMAGE22.x=29&IMAGE22=Search&cds_country=United+States&cds_mag_code=WBH
https://w1.buysub.com/pubs/WS/WBH/wbh_sub_new.jsp?cds_page_id=13932&cds_mag_code=WBH&id=1166546921780&lsid=63531048417030297&vid=1&IMAGE22.y=10&IMAGE22.x=29&IMAGE22=Search&cds_country=United+States&cds_mag_code=WBH



